Certshared now are offering 100% pass ensure JNO-363 dumps!
D CEr‘tSharEd https://www.certshared.com/exam/JN0-363/ (65 Q&AS)

s

Juniper

Exam Questions JNO-363
Service Provider Routing and Switching Specialist (JNCIS-SP)

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure JNO-363 dumps!
r_' CEr‘tSharEd https://www.certshared.com/exam/JN0-363/ (65 Q&AS)

NEW QUESTION 1
What are two types of SIDs used in segment touting? (Choose two.)

A. node

B. adjacency
C. link

D. interface

Answer: AB

NEW QUESTION 2

Exhibit
172.20.110.0/24  203.0.113.0730 20301364130 409 20 111.0/24
TRY 1 Internet 65 66
R1 s
lo0: 198.51.100.1 lol: 192.0.2.1
gr-0/0/0.0 gr-0/0/0.0

Referring to the exhibit, how do you verify the status of the tunnel from R1?

A. Issue the ping 172.20.111.10 source 172.20.110.1 command.
B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
C. Issue the ping 172.20.iii.io source 203.0.113.2 command.

D. Issue the ping 172.20. I

E. 10 command.

Answer: C

NEW QUESTION 3
You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the 10.10.10.0/24 network. Which command would
you use to test connectivity between vr3 and Server 2?

A. user@vr3> ping 10.0.0.2 count 5

B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1

C. user9routerl1> ping 10.0.0.2 count 5

D. user@routerl> ping 10.0.0.2 routing-instance vr3 count 5

Answer: C

NEW QUESTION 4
Exhibit

ISP
AS 84525
A
2
{.J\\.-" %
O
) 2
JAY
2N AS 64501
%\\5
V- ge-0/0/3.0 ge-0/0/3.0
loO/RID: 192.168.200.1 T 18211000 (2] lo0/RID: 192.168.200.2
Router1 o . Router?

IBGP

[edit]
user@Routerl$ show protocols bgp
group External |
peer-as 64525;
neighbor 172.25.1.2;
}

Referring to the exhibit, what must be included in the Routel configuration when establishing an EBGP session with the ISP?

A. A local address must be specified.

B. A local AS must be specified.

C. The BGP session type internal must be specified.
D. The BGP session type external must be specified.
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Answer: A

NEW QUESTION 5
Exhibit

M\ Exhibit

Interface State Froup VR state VR Mode TYpe Addrass

ga=0/0/4.0 up 1 HDASTEY Active 1c 172.25.100.2
vip 112.25.100.1

sar@R2> sShow VIXp SUMmMATY

interface State Group VE atate VR Mode Type ARddress

ge~-0/0/4 iF 10 MASTRr Active lel 172.25.100.3
vip 172.2%.100.1

Referring to the exhibit, which statement is true about VRRP?

A. VRRP communication between the two devices is not functioning correctly.

B. Both routers are in the same state because they have the same VRRP priority.

C. RRP Is functioning normally in active/active mode.

D. The routers should use different virtual IP addresses for VRRP to function correctly.

Answer: D

NEW QUESTION 6
What are three types of MPLS routers? (Choose three.)

A. transit routers

B. peering routers

C. egress routers

D. aggregation routers
E. ingress routers

Answer: ACE

NEW QUESTION 7
The segment touting SRGB start label Is 10,000 and the SRGB index range is 500.
In this scenario, which two statements are correct? (Choose two.)

A. The first usable label is 10,001.
B. The last usable label is 10.501.
C. The last usable label is 10,499.
D. The first usable label Is 10,000.

Answer: CD

NEW QUESTION 8

Exhibit
M\ Exhibit v X
Router A Router B
Router ID 12 I_. Router ID
10.1.1.1 v [ 10.1.1.2
MPLS
Labels

The routers shown in the exhibit are configured for segment routing.
In this scenario, what is the adjacency SIO that Router B advertises to Router A?

A. 12
B.10.1.11
C.10.1.1.2
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D.11

Answer: B

NEW QUESTION 9

Exhibit

La&r@R1> show configuration preotocols mpls
iabel-switched-path Bl 70 ES |

e 152.268.1.5;

- .:.;_l -

E

inserface ge- 0.0
nterface ge- 1.0;

You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure that MPLS labels are used
to forward traffic by all devices within the LSP.
Which action will accomplish this behavior?

A. Configure the ultimace-hop-popping statement under the R1_TO_RS5 label switched path on R1.
B. Configure the explicit-null statement under the protocol mpls hierarchy on R1.

C. Delete the no-espf statement under the R1_TO_RS5 label switched path on R1.

D. Configure the install statement under the R1_TO_RS5 label switched path on R1.

Answer: D

NEW QUESTION 10
Which configuration selling prohibits a static route from being redistributed by a dynamic routing protocol?

A. route-filter

B. no-readvertise

C. qualified-next-hop
D. passive

Answer: B

NEW QUESTION 10

An OSPF router does not have a router ID configured.

In this scenario, which statement is correct about the router ID?

A. The Junos OS will use the IP address assigned to the interface with the lowest MAC address.
B. A router ID will not be assigned until it is manually configured.

C. The Junos OS will use the IP address assigned to the loopback interface for the router ID.

D. The Junos OS will use the IP address assigned to the Interface with the highest priority.
Answer: B

NEW QUESTION 14
Exhibit
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M\ Exhibit 3

[edit routing=opticns]
uzerdlrls show
static |

defaults

preference 20; .
[
route 0.0.0.070 { E
next-hop 172.24.0.1;

preference 5;
]
route 172.24.0.0/24 next-heop [ 172.24.0.100 172.24.0.101 ];
forwarding-table |

export lbpp:

[edit]
uEarfRlE show policy-options poelicy-ztatement 1lbpp
term 1 |

then {

load-balance per-packst;

Which type of load balancing is shown in the exhibit?

A. elastic load balancing

B. per-packet load balancing
C. per-flow load balancing
D. network load balancing

Answer: D

NEW QUESTION 17

Which statement is correct about IS-I1S?

A. IS-IS is a distance vector routing protocol.
B. IS-IS is a path vector routing protocol.

C. IS-IS is a link-state routing protocol.

D. IS-IS is a classful routing protocol.

Answer: C

NEW QUESTION 21

Exhibit
M\ Exhibit 5
Ethernet header
IP header
TCP header
Payload

Site 1

Service Provider MPLS Core

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?

(Choose two.)

A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.0 table.
D. R2 will perform a lookup using the inet.3 table.

Answer: A

NEW QUESTION 22
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Exhibit

RVSP LSP with 300 Mbps reserved
RVSP LSP with 700 Mbps reserved

The exhibit shows a topology with 1 Gbps interfaces between routers, and four RSVP LSPs operating with the respective bandwidth reservations.
Which path will be selected for a new LSP from R4 to R6 with a bandwidth reservation of 400 Mbps?

A.R4->R1->R2->R5->R6
B.R4 ->R5->R6

C.R4->R5->R2->R3->R6
D.R4 ->R1->R2->R3->R6

Answer: A

NEW QUESTION 27
Exhibit

user@router-red> show system s?

Possible completicons:

services Show service applications information
snapshot Show snapshot information

software Show lcaded JUNQCS axtensions
statistics Show statlstics for protocol

storage Show loccal storage data

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.
Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 28

LEXhibit
I
M\ Exhibit &
3
user@ewlcoh> show 2panning-tres bridge
5TF bridge parameters
Contexr ID = B
Erapled procogol : RETE
| Foot TD glez,5h ZiEdrasrdbial
. Hello: time 10 zeconds
1 MaxiTum age : A0 seconds
il Forward delay : 30 mmconds
Mes3age age s
Number of topology changes i -1
Time since last topology change : T8l second=
4 Topology changs initiator : ga—-0/0/14.0
Topology change last recwd. from 2ol rh 130 0610k
Laczl paransTers
Bridge ID 1 Bl183. 53 rohrddras b gl
Extendad systsr TD S|
Internal inatance ID : 0

Which two statements ate correct about the information shown in the exhibit? (Choose two.)
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A. The root bridge is reachable using the ge-0/0/14 interface.
B. This switch is the root bridge for this spanning tree topology.
C. This switch has a bridge priority of 8k.

D. The root bridge's priority Is 4k.

Answer: BD

NEW QUESTION 33

Which statement describes integrated routing and bridging (IRB) interfaces?
A. An IRB interface Is an IP gateway For hosts of a bridge domain.

B. An IRB interface assigns interfaces to VLANS.

C. An IRB interface enables Layer 2 switching on the router.

D. An IRB interface defines a bridge domain.

Answer: C

NEW QUESTION 37
Exhibit

Gserfrouter> show mpls lap ingress detaill

Ingress LSP S&as1ons

192.168.0.3
From: 0.0.0. 0, State: Dn, ActiveRoute: 0, LSPname te=-R3
ActiveParh: (nons)
Le8Ptype: Sctatic Configured, Penultimate hop pOpping

LoadBalance: Random

Follow destination IGP metzic
Encoding type: Packet, Switching type: Packetc, GPFID: IPFV4
LSF Self-ping Status : Enabled
Frimazy State: Dn

Friorcitcie T 0

SrartOptimizeTimer: 180

Flap Counc: (

MBEB Counct: 0

Will be sngueued for recomputation in

CSEF: could not decermine seslf

1 Mar ¥ £I12L 12998
izserdrouter> show ted database
TED database: 0 I5138 nodes 0 INET nodes

[ediz protocols

aveas R |
interface ge-{ 0
interface ge-y LI
|
reve |
intexzface all;
ogp |
group Int |
type internal;
local-address 1582.168.0.1;
export nhs;
neighbor 192.168.0.3;

interface all;

The LSP is not establishing correctly.
Referring to the exhibit, what should you do to solve the problem?

A. Enable traffic engineering for the OSPF protocol.
B. Enable traffic engineering for the IS-IS protocol.
C. Enable traffic engineering for the BGP protocol.
D. Enable traffic engineering for the RSVP protocol.
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Answer: D

NEW QUESTION 38

Interface ge-0/0/0.0 connecls yout network to your ISP. You want to advertise this interface address as an Internal route In OSPF without creating a neighbor with
your ISP.

In this scenario, how is this task accomplished?

A. Remove interface ge-0/0/0.0 from OSPF.

B. Create a generated route for Interface ge-0/0/0.0.
C. Add ge-0/0/0.0 as a passive interface In OSPF.
D. Configure a static route for Interface ge-0/0/0.0.

Answer: D

NEW QUESTION 42
Exhibit

ledit]

uzerdawitcnf z=how interfaces qgs=

Referring to the exhibit, what will happen to untagged frames?

A. The untagged frames are dropped.

B. The untagged frames are load balanced between VLAN 10 and VLAN 20.
C. The untagged frames are associated with VLAN 10.

D. The untagged frames are associated with VLAN 20.

Answer: A

NEW QUESTION 44
Exhibit button

! Matwark 3

MNatwork 1

[ermoz—EE)
T
qlw aly "{]_I___/'
R1 R2 R3 R4 RS sk 4

Metwork 2
| & I

| RSVP Signaled Service Provider MPLS Core |

&

J

Which two statements are correct about the service provider MPLS network shown in the exhibit? (Choose two.)

A. R3 will perform a label pop operation on the transport MPLS label.

B. Traffic from Network 1 to Network 3 and traffic from Network 1 to Network 4 each need their own unique label-switched path.
C. Traffic from Network 1 to Network 3 and from Network 1 to Network 4 can share the same label-switched path.

D. R3 will perform a label swap operation on the transport MPLS label.

Answer: AD

NEW QUESTION 46
You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.

C. All the ports must have the same speed.

D. Member links are required to be contiguous ports.

E. Member links can reside on different members within an MC-LAG.

Answer: BD

NEW QUESTION 48
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